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(2 9
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3 9
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@ °

Terdt g Torll waRT , 9191 400 nm TERET ¥ Y
STArT e T, W1 m g W feam w© W) e
fHfers =t =viie <l 0.2 Wt T afk wuw
YL Wl WA 7 gl &, 6 e fiftts &5t S
%ﬁmﬁ@ﬁ?(pﬁfﬂ)

(1)  0.266°
@ 0.15°
@  0.05°
4 0o.r1°
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When a block of mass M is suspended by a long
wire of length L, the length of the wire becomes
(I.+ ). The elastic potential energy stored in the
extended wire is :

Q) Mgl
@ Mgl
1
()] 3 Mgl
@ = MgL
2 &

A mass m is attached to a thin wire and whirled
in a vertical cirele. The wire is most likely to break
when :

(1)  the massis at the highest point

(2)  the wire is horizontal

(@)  the massis at the lowest point

4) inclined at an angle of 60° from vertical

Ionized hydrogen atoms and a-particles with same
momenta enters perpendicular to a constant
magnetic field, B, The ratio of their radii of their
paths ryy: r, will be :

L 2:1
@ 1:2
@ 4:1
4 1:4

Body A of mass 4m moving with speed u collides
with another body B of mass 2m, at rest. The
collision is head on and elastic in nature. After
the collision the fraction of energy lost by the
colliding body A is :

1
e) r
8
& Y
4
6)) Y
5
@ 3

In a double slit experiment, when light of
wavelength 400 nm was used, the angular width
of the first minima formed on a screen placed 1 m
away, was found to be 0.2°. What will be the
angular width of the first minima, if the entire
experimental apparatus is immersed in water ?

(I"‘water =4/3)

(O 0.266°
@ 015
® 005
@ 0.1
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., A @ R @ s S e
W g
@ A TERAE
@ FpTEs
@ fr@dR

TS % g et farg Zy TWEE FH FOA B

TE T 2.5 X 10~ 2 N/m ¥ ferelt feetsie-foemam

Y 1 mm a1 F1E T 6 el o el

0 ¥ o 1 e e R

g=10 m/s? T 57 0 A =108 kg/in® A T

Zy HAFTE : __
(1) 100ecm
2y “10 cm:
LB lom o
4 05cm

10.

frefafaa & & wm % fFre avl @ TR ge;
Tl At B2 :

(1) el

@ el |

®
@ S

ST 100 kg SR BRI 2 m 9 P Tt R |2

&frst wY W EFA €1 TWH Wefd wE F W
20 em/s ¥ 1 T8 T & forg fiFa v 1 SawEsdl

i 2

(1) 3dJ
(20 30kd
@ 24
@ 1d

e omad fa w18 fedr w0 w1 farama

 y=Ag+Asinet+ B cosot TR FEfE FR TR

TR SR GeT oht ST B ¢
@) Ag+VAZ4B?

@ JaZiB?

@  JA%+@A+By

(4 A+B ;

L

6.

10.

P1

In which of the following devices, the eddy current
effect iz not uged ? -

(1)  induction furnace

| (2) ma gnetié braking in train
(3) electromagnet

4 electricheater

A soap bubble, having radius of 1 mm, is blown
from a detergent solution having a surface tension
of 2.5 % 10~ 2 N/m. The pressure ingide the bubble

equals at a point Z, below the free surface of water

@

in a container. Taking g=10 m/s?
density of water = 103 kg/m3, the value of Zyis :

(1) 100cm
@ 10em

@ lem-
@ 0.5cm

Which colour @f the light has the longest
wavelength?

(1) red

(2) blue

(3) green
violet

A disc of radius 2 m and mass 100 kg rolls on a
horizontal floor. Its centre of mass has speed of
20 em/s. How much work is needed to stop it ?

Q 3d
@ 30kJ
® 24
@ 1J

The displacement of a particle executing simple
harmonic motion is given by

y=A;+Asinot+ B cosot.
Then the amplitude of its oscillation is given by :

D Ay + VA% + B
@  JAZ + B2

) JA% + (A + B)?
@ A+B

-
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11.

12,

18.

14,

15.

4

R T /% QA TN T T o T SR
|k H e 59 TR @ TN § R Heiem 9 wieg
WF, 3 & ¥ F 99 F wr F fawe
(TSIG=1 ST9edIE i & STIGEIEH (o = 1.5) ¥ SR
) W& I A T B G F, ¥ sum

F, :F, BT :

1 2:1

@ 1:2

3 2:8

4 3:4

et o & i o Fam d gfg 90 QA w=am?
O 9% g H iy

@ ! fas =i ¥ 5fyg

(3 T TEHFH

@  queTEs gl H wH

et 3o &1 10,000 V 3 favem=r grr afa fren
T %1 TEE! ] IFel wesf § (S
(m,=9x10~31kg)

1 122x10-183m

@ 122x10-12m

@ 122x10-14m

4 122nm

88 con H BN H| T AT T o Ht e
Teifafem =i v =t @R o 9fg 7w gfe W fek
T 21 ufafram 1 v & g ? .
(acy=1.7X 107K~ 10y =2.2x 103K 1)

(1) 6.8cm

@ 1139cm

@) 88cm

49 68cm

TRUTY % Hey § niee s ghw

) = frdt w@ Wt g T g w Rl S SR
3T TR Lt €, <O g Tgehaes saemy
ST R |

@ fedios s o auil &1 %9 Sopfid 21 S
2l

@) B N TRYTY T G R § S G S5
T B § )

@ TR G %y ¥ faduv, suad ok
e I T ¥

11.

12,

13.

14,

15.

Two similar thin equi-convex lenses, of focal length
feach, are kept coaxially in contact with each other
such that the focal length of the combination is
F,. When the space between the two lenses is
filled with glyeerin (which has the same refractive
index (= 1.5) as that of glass) then the equivalent
focal length is Fy. The ratio F'; : F, will be :

» 2:1
@ 1:2
3 2:3
4 3:4

Increase in temperature of a gas filled in a container
would lead to :

(1) increase in its mass

{2) increase in its kinetic energy

(8) decrease inits pressure

(4)  decrease in intermolecular distance

An electron is accelerated through a potential
difference of 10,000 V. Its de Broglie wavelength
is, (nearly) : (m =9 x 1031 kg)

1 122x10-138m
@ 12.2x10-12m
3y 12.2x10"14m
4 12.2nm

A copper rod of 88 ¢m and an aluminium rod of
unknown length have their increase in length
independent of increase in temperature. The length
of aluminium rod is : (g, =1.7x10-35K~1 and
oy =2.2X 10-5K~1)

(1) 68cm
@ 1139c¢cm
@3 88cm
4 68cm

Pick the wrong answer in the context with
rainbow.

(1)  When the light rays undergo two internal
reflections in a water drop, a secondary
rainhow is formed,

(2) The order of colours is reversed in the
secondary rainbow.

(8)  Anobserver can see a rainbow when his front
is towards the sun.

(4)  Rainbow is a combined effect of dispersion,
refraction and reflection of sunlight.
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16. .. Todl fuvg %1 gedl & g8 W 91X 200 N g1 9E & | 16 A body weighs 200 N on the surface of the earth.
T e How much will it weigh half way down to the centre
. - T R fpa @ ? .
?;? ﬁlgljmﬁ R e & ? | of the earth ? 1
(2) 900 N () 150N '
(8 250N @ 200N |
@ 100N . (3 250N |
4 @ 100N
17. St # ot SR B THEHH a0 I Sl |
iRy ik forga ok o E % fRdl S wRT = | 17 Six similar bulbs are connected as shown in the
dafaa ¥ figure with a DC source of emf E, and zero internal
1 e G SUN IR — resistance.
e ” S 1 8 The ratio of power consumption by the bulbs when
@® s o € (i) o7 affeerta T () all are glowing and (ii) in the situation when
A HFT A T CEH B 9T ke ?ﬂtﬂ'ﬂﬁ% 20 two from section A and one from section B are
glowing, will be :
4
A B |
™M A B
L™ L
= |
LM = |
I=
(1) 4:9
@ 9:4 (1 4:9
@ 1:2 @ 9:4
@ 2:1 o ik
18. et p-wHR & anduew & fog Freafafea 7 @ @ 2:1
: | 3 LN P 18. F typ iconductor, which of the followi
| u . ; or a p-type semicon Y, W e following
@ i g Ry statements is true ?
A (@_ﬁq) %:_] | ) (1) Electrons are the majority carriers and
@ T e aes § au PeEase T trivalent atoms are the dopants.
nes (2=) ¥ (2) Holesare the majority carriers and trivalent
@ TR SgEE® AR § 9 e W atoms are the dopants.
(3 Holes are the majority carriers and
ae# (=) 2
- . o g pentavalent atoms are the dopants.
@ o IWW%HW ERRIEL I (4) Electrons are the majority carriers and
e (=) ¥ pentavalent atoms are the dopants.
19. W& YU < W O T TIfd wed RS U BT | 19, Average velocity of a particle executing SHM in
AT IMETR : one complete vibrationis :
A oy LU |
(}) ? ey >
2 Ae @ Ao
An? £33 |
@ A (4) zero
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21.

22,

23.

FA TAHH FATF S
O JmK-!

2 Jm-1K-1

3 WmK-1

4 Wm-lK™?

4 cm TR 4R 2 kg ZoU0H T FE 39 A STH
3y % IRQ: 3 rpm F R Y P W@ {) 2n
TR 7 % 9T 38 T & ToIT aavas sa
STl E

() 2x10~8Nm

@ 2x1073Nm

® 12x10~4Nm

4 2x105Nm

ol %01 WX y-TEWm H g & F =20+ 10y F4 3R
WY A F g aAaay IR A &) S 9=0
Vy=lmT@Masm A fFmm s,

(1) 30d
@ b&d

@ 25d
4 204

frafafaa # @ s o, ey Ear yfm e d
F wa g ?

Q) <
@ ¥
@ o=
@ =S

i g g uftey ¥ deediedl ok wited % araies
B

_ 10!1 b 10 ﬂ ig
g
A 00 | -
@ Llw@ @y
| |
10V 10V
Ty 1 gftqer 2

Q) Vy>V, T i =i,
@ V=V, Wi, >i,
@ V=V, awi,=i,
@ V>V, a4 i, >i,

20,

21.

23.

HindEnglish

The unit of thermal conductivity is :

1) JdmK-1
@ dJdm-1K-1
3 WmK-?

4 Wm-lK-!?

A golid eylinder of mass 2 kg and radius 4 cm is
rotating about its axis at the rate of 3 rpm. The
torque required to stop after 2w revolutions is ;

) 2x10"5Nm
@ 2x10-3Nm
@ 12x10~4Nm
4@ 2x105Nm

Aforce F =20+ 10y acts on a particle in y-direction
where F is in newton and y in meter. Work done
by this force to move the particle from
y=0toy=1mis:

(1) 30dJ
2 bdJ

(8 25d
4 20J

Which of the following acts as a circuit protection
device ?

(1)  conductor
(2} inductor
8 ewitch

4) fuse

In the circuits shown below, the readings of the
voltmeters and the ammeters will be :

o0, W 08
| 1005
) - 3y
| |
10V 10V
Circuit 1 Circuit 2

() Vy>V, and i;=1i,
@ V=V, and {, >,
& V;=V,and i;=i,
4 Vy>V, and i; >,

-
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7 P
95. e R ¥ forelh Gl o1g 3 e i wwwmi omafed | 26, A hollow metal sphere- of radius R is-uniformly
- | T forege 6 charged. The electric field due to the sphere at a
5 T E Wﬁ@rﬂ“ﬁﬁ?ﬁ & distance r from the centre :
1) “ErFE@ETAr<RIMr>R FHfauagm gl (1)  increases as r increases for v < R'and for
@ “HrIE@Ed e <R ¥ Y R S g o el b
: zero as ¥ increases for r <R, decreases asr
rbR%m"mﬁEﬁ]ﬁT%l ' increases forr >R
3) Wrﬂ%m%?ﬁr{RﬁﬁE?ﬁaw%w (3) - zero as r increases for ¥ <R, increases as¥
¢ >R F fou sg 5 81 ‘increases forr>R-. o+ i
@ wrmmide<polr>RERmmy | @ deosases asinareasos br < Rand for
26. E@%W?Wﬁﬁﬁﬂ?ﬁm 5= +25°1 | 26. At a point A on the earth’s surface the angle of
EEEI'?%?WWWBWWWE=—Z5°I & dip, 8= +25°. AtapamtBontheearth’ssurface
e =aTE S GE £ the angle of dip, 3—_,_—.25" We can mterpret
) : that :
1) AR B I & I e 4 e € (1) A and B are both located in the northern
@ A ehauit iend § fred § qen B Swd e # hemisphere. , . 5
feo &1 @ Ais located in the southém hem:sphere aml
, . “-*  Bislocated in the northern hemisphere.
@ A Su i feoa & 7o B afoll T # (3)  Aislocated in tHe northern hemisphere and
foorg ©1 B is located in the southern hemisphere.
. (4) A and B are both located in-the gouthern
@) A SR B EFT <o ey A feera 71 S :
27. o e § fondlt W] F TOSEM W T o | 27.  The total energy of an electron in an atom in an

— 346V THE i oir feafie o wAm: €
(1) -—3.4eV, -34eV

orbitis —3.4eV. lts. kmemc and potet ntml energms
are, respectwely

(2 ~—8.4eV,—-68eV (1) —~3.4eV,—34eV
(8 3.4eV,-86.86V @ —384eV,-68eV

R (3} 3.4eV,—-6.8eV
4 84eV,34eV T A

28, uf Syaftes WA ¥ @ WRTE % WA F LA F | 28, In total internal reflection when the. angle of
fET ST HI0T ST 10 o RIS Bil 2, & ST incidence is equal to the critical angle for the pair
Yo7 RRe A 2 of media in contact, what wﬂl be angle of
; refraction ?
) 28 (1) 180° ;
@ o @ o .
(3)  STUEA IV o FER 3 . equaltoangle ofincidence’. -
@ 90 @ 9
29. The work done to raise a massm from the surface

20. ol ST m 1 g %W@?‘_""ﬁ h, STy i of the-earth to a height h, which is equal o the
51 B SR B, T S ST # fendl T 14 ¢ radius of the earth, is :
(1) ~mgR () mgR
@ 2mgR 2 2mgR
1 1
@ 5 msR @ 5 mel
3 @ > mgR
@ 5 meR 5 18

L ]
gcollegedunlaa
India’s largest Student Review Platform

—



P1
30.

31.

32.

e AR | 60° HI9 W Frell o foss o 9
=t deil | Fret favg w we o s €, @ s O
F RV x; TH o wwar ¥ Ry & gEE B
AL 30° T o ST T aen s fvg sy an @
W T A 2, T A x, T T GhA T 0
IIZ.TZWI

®H 1:42

@ 21

@ 1:48

@ 1:2/3

-FNHEITE .

(1)  had 2 W iR 2 =g
@ 2%, 2 W ol 2 =g
(8 o 2 TEEE SR 4 Wi
@ Fod 2RI

oot s/t H ot (R = =Tt 20 m/s &1 78 ¥ v
=+ HIE 10 m/s § 91K 35 3 T 91 iR w7 W@ )
af< T ROl fem W e @ sl B ergan vy ¥
Frfew IR N 91Ea € 9 SO F e 39 R =i

WERF AT Iie T e

O s0°ufEwm
@ r

@ 609w
@ 45°9fEm

Hitwr s PQR # Tt s1gaR an v ¥ nRmE
rtFT R sm sl e ¥ mauman.:

P
/
R Q
H M
@ Hm
@ Fraadm

@) IFENEE QR ¥ ER uRaRia am

8

31.

32.

33.

When an object is shot from the bottom of a long
smooth inclined plane kept at an angle 60° with
horizontal, it can travel a distance x, along the
plane. But when the inclination is-decreased to
30° and the same object is shot with the same
velocity, it can travel x, distance. Then x; : x,
will be :

Q  1:42
@ V2:1
@ 1:43
@ 1:243

a-particle consists of :

(1) 2protons and 2 neutrons only

@) 2electrons, 2 protons and 2 neutrons
(3)  2electrons and 4 protons only

(49  2protonsonly

The speed of a swimmer in still water is 20 m/s,
The speed of river water is 10 m/s and is flowing
due east. If he is standing on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes
w.r.t. north is given by :

1) 30°west
@

3 60°west
4 45°west

A particle movingwithvelocityﬁisactedbythme
forces shown by the vector triangle PQR. The
velocity of the particle will :

P

(_1} increase
@

&)
@

decrease

remain constant

—
change according to the smallest force QR

-
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39,

37.

L@

36 *"-éwﬁm a1 Yas sy fSees e sey wd B

ﬁaﬂIrBﬁﬂTSfrﬁiﬂaﬁpfﬁﬁt?ﬂa?ﬂTAﬁﬂB |
| W vy SR vp A0 A g A @ L [
;T YU NS §HE o AR B @l | e

Q) rpirp

(2) UJ’S.:UB

3 rgixy

4 1:1
wkgamqﬁamﬁéuzemlmﬁw%mmé
TR 59 1 el SR F wudk # g el

Far IR RF P T =T Ol 0.1 1 59 SeH

stk oM s F o R wmw@ g @

&I ¢ (g=10 m/s?)

1
% rad/s

10 rad/s
10 ar rad/s

2
3

n Ofm 3 —A O/m & 7 S d 2R W N
W | T e s ¥ o, wen § Ty &
e ?

@ A

© w:‘R NIC

® o VO

®  gog NO

3 farg a9 A 3R B S W +Q 8K -Q
HEY §, U T @ o T R Fed € 3R 36 S
ST Al o9 F ¥ af A # 25% AEW B H
TG W e S, @ e % S 9 @

STET &
1 F
aF
@ 1g
16F
@ 75
4F
@ 5

34;

35.

36:

37,

i

P

Two particles A and B -are moving’ in uniform:

circular motion in concentric circles of radii
A and rg with speed vy and vp respectively. Their
timeé pemod of rotation is the same. The ratm of
angular speed of A to that uf Bwillbe?:

{1) I.',n:,’_ TB
(2) Up « Up
B rgiry
4 1:1

A block of mass 10 kg is in contact against the

inner wall of a hollow cylindrical drum of radius

1 m. The coefficient of friction betwéen the block

and the inner wall of the cylinder is 0.1. The

minimum angular velocity needed for the cylinder

to keep the block stationary when the cylinder is

vertical and rotamng about its axis, will be'!’
(g=10m/s?) .. :

@) J_U-jl_fadfs
2 "Z—W radls”
3 10radfs

‘Two parallel infinite line charges with linear

charge densities +.\ C/m and —A C/m are placed
at a distance of 2R in free space. What is the
electric field mid- way between the: two line

charges ?
(1) zero
@ w:‘R N/C
® g N

Two point charges A and B, having charges
+Q and — Q respectively, are placed at certain
distance apart and force acting between them is
F. If 25% charge of A is transferred to B, then
force between the charges becomes :

1) F
9F
@ 7g
16F
® Ty
4F
v 3

-
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38,

39.

40.

41.

10

2 m F4E & 70w A I Y W el wd T A oot
% e 2 mm? SITTR TR Sueet # I BT fog
SIRUd B1 g=10 m/s2 B TU GO oz © AR
S Bl R BN T
1) 12.6x10-¢md/s
@ 8.9x10-¢md/s
3 2.23x10~6md/s
4 6.4x10 %md/g

+6V
/° 4
%l L3LED (v)
R
0 :
f ;
I % gy g e ad soi g d
(1) AND
@ OR
3 NAND
@ NOR
Ffafea # @ fea o o §, fog fem g =

ol o S STerr S ® ol 7 € e fergea it
g2

1) T

@ ufersfes (vgm)

@ e

@ ITENRIRE (IHTE)

YRl ST 0.05 m2 H 800 W W FE Fvsen

5X 1075 T & TRt grerats 99 % wvaaqg Wt 81 |

W 39 FUS! % A H, 0.1 ¢ W THF forddt el
A % W’ AR, 90° R Yfvfa fopar s § @ =W

Fogall ¥ I fagga o 5@ 9w
QO 2V

2 02V

38 2x10°3%V

4 0.02V

38.

39.

40,

41,

| Hindi+EE_g!E5h[

A small hole of area of cross-section 2 mm? is
present near the bottom of a fully filled open tank
of height 2 m. Taking g= 10 m/s?, the rate of flow
of water through the open hole would be nearly :

L) 12.6x10-6md/s
@ 89x10-6md/g
@ 2.23x10"mds
4 6.4x10-6md/s

+6V
0 %R
o
Al fLED(Y)
R
0 >
P
B 1

The correct Boolean operation represented by the

circuit diagram drawn is :
(L AND

2 OR-

(8 NAND

4 NOR

In which of the following processes, heatis neither
absorbed nor released by a system ?

(1)  isothermal
(20 adiabatic
3  ieobaric

@  isochoric

A 800 turn coil of effective area 0.05 m2 is kept
perpendicular to a magnetic field 5§xX10~5 T,
When the plane of the coil is rotated by 90° around

any of ite coplanar axia in 0.1 8, the emf induced
in the coil will be ;

L 2V

2 02V

@ 2x1073V
@ 002V

-

T
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Hindi+English 11
1L P, qfwwoT 1 STedahTe, SR | 42, The radius of circle, the period of revolution, initial
s oo jﬁ?ﬂ‘dﬁﬁ 'a’?r form ‘sﬁ: = ¥ ; | position and sense of revolution are indicated in
the fig.
y A y F
P(t=0) P(t=0)
: T=4ds \I‘= 4ds
> X > X
3m
5[917{ % T P 3 T wfee & y - 980§ y - projection of the radius vector of rotating particle
= + Piz:
= — i
@ v SEEER cEae £ (1) y(t)=—3 cos2xnt, where yinm
iy s . ‘
=4-8in}—= .t
@ 0 sm( 2 ] T ym AR @ =4 Em[?], where yin m
35) y({) =3cos @) WymHA T ( 3mt
® TP (g y(t)=3cos k?] , where yinm
7t % /
= = t
4 y{t) SEGS[ZJinyILﬁ% 4 y(t) = 3 cos %J’Whereyiﬂm
W
43. 20 uF i % et & ¢ q @ | 43. A parallel plate capacitor of capacitance 20 p,F‘is
W Eeem | g AERE 6 sn @ ? oo being charged by a voltage source whose potem.:lal
99 3 Vie F Y yREfda S wr ) g a] 9 is chantginhi at t}il?; I:tiate of 3 C‘ﬁgs. The cnnif;t;i]:
Tt T e ’F‘ﬁ Py curren ough the connecting wires,
. e aﬂ-{ ik et displacement current through the plates of the
R A B ¢ capacitor, would be, respectively :
() I, 60pA (1)  zero, 60 pA
(2) 60 A, 60 pA (2) 60 pA, 60 pA
(8) 60 uA, zero
3 60 pA,
G)) p, A o5 i
@ I TH
: : : ; ‘ the percentage of error occurred
fad) weiT # ofiferss U A, B, C IR D ®wI A9 H 44 ;nanexperunent, : . o
& 4 ! in the measurement of physical quantities A, B, C
@ﬁmﬁi’ﬁﬁ i FHA: 1%, 2%, 3% 3R 4% and D are 1%, 2%, 3% and 4% respectively_. Then
-1
AZ BY the maximum percentage of error in the
2 ;
£ g9 X F UM, §6fE X = ——— ¥, ® sAfushad 2 ¥
C}é ® measurement X, where X = % , will }'.'IE :
3
5] 2 e
® [ﬁ]’* ® (13]'{'
2) 16% 2 16%
3 —10% 3 —10%
@  10% @ 10%

L ]
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P1 12
45, T R & Tt SR 9ms © #1 Frag ura | 45. A cylindrical conductor of radius R is carrying a

yaed B W el FEHY 45, B F it a9 9o constant current. The Plot of the magnitude of
FFE AT, d % oo T T wd PR Pt L mmenpo i, Bt thelisaiite il o s
e centre of the conductor, is correctly
H 9 fra ame g s men ¥ 2 represented by the figure :
B B
(1) i\ ) E \
B 4 R 4
& B
@ - ©)
R d R d
B
®) 4 s |
R d fi 3
B

4)
@)

46. Ye-2-F-4-3e N o (o) A9 9 (o) ST W

Feny . 46. The number of sigma (o) and pi (=) bonds in
rent-2-en-4-yne is ;

() 10 o ST T 3 7 STH (1) 10obondsand 8 whonds

@) ReSTHIAS5 7 ASH (2) 8cobondsand 5mbonds

@) 11 o ST A 2 5 IS (3 1lobondsand2whonds

@ 18 o 3O AU R WY Y T 4 13 obonds and nosrbond

-

T
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47. T st 8 T A @EAE

"
H,C-C—0-0-H

e
0-0~CH
|

o O CH,

@

13

P1

47. The structure of intermediate A in the following
reaction, 18 :

OH

_?HB
HEC—C_D—O—H

e

G
0—-0-CH

|
@) @ CH,

@
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49,

51.

TR HISTRRTRS & Wet e &
0
o, ¢ O
1) Ozfr“?r_%{:o
0
0
o, ¥ 0
@ 0=’Pr—-l?r—%r:0
O — 0
0
0 =
_0% O
O=Br-Br~PBr=
@ 2P \B_O
0
5
00% P 0
@ ~“UApe-Br=Br—0
4d, 5p, 5f T 6p FHH W2l T F HY F sgafeya

EDRICE wét fawreg ¥

(I} 5f>6p>5p>4d
@ 6p>5f>5p>4q4
(3} 6p>5f>4d>5p
49 b5i>6p>4d>5p

7 afufirenatt F @ 2 o sreuRE affed
g2

@  2Cut — Cut +Cu?

(M) 3Mn0§—+ 4H* = 2Mn0, +MnO, +2H,0
© 2KMnO, A, Ko;MnO, + MnO, + O,
@ 2MnO, +3Mn?* +2Hy,0 — 5Mn0O, +4H®
() ¥ (a) T (b)

@  (@.®)TA ()

@ (a), (0 T4 (@)

@ 5 (a) TG (d)

T st H, 300 K W T 1 2 91 % v feer
I @ F 565, 0.1 L F 0.25 L, 7 TaR 357 £
%WWWW%:

[fan T & 1 feRt SR =100 J

QO -304

2 5kJ

@ 254J

@ 30J

14

48,

49,

50,

b1.

Hindi+English

The correct structure of tribromooctaoxide is :

o 9 o
? ] &
O=Br—-Br-Br=0
Y of ! o
O
0
0‘% I 4}0 _
@ 0=/;3r-]?r—1ir:0
0 - 0
§)
O s
o 0% Il /0
O-Br~-Br-Br=
® 2 b ‘ig_o
O
G
o ¢ o
@ O=Pr-Br-Br-o

4d, 5p, 5f and 6p orbitals are arranged in the order
of decreasing energy. The correct option is:

1) bBf>6p>5p>4d

@) 6p>5f>5p>4d

3 6p>5f>4d>5p

@ B5f>6p>4d>bp

Which of the following reactions are
disproportionation reaction ?

@ 2Cut - Cu?t+Cnl

)  3MnOj +4H" - 2MnO] +MnO, +2H,0
© 2KMnO, 8, K,MnO, + MnO, + O,
@  2MnOj +3MnZ* +2H,0 - 5MnO, +4H®
Select the correct option from the following :
(1)  (a)and (b) only

@ (), ()and(c)

@)  (a),(c)and ()

@  (2)and (d)only

Under isothermal condition, a gas at 300 K
expands from 0.1 L to 0.25 L against a constant
external pressure of 2 bar. The work done by the
gasis: '
[Given that 1 L bar=100J]

(L) - 30d

@ bHkd

8 25J

4 380J

-

T
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52. fq-::[{:”[ q El"'e“.'ﬁ.'f i B9y T TE &, oF 52. Among the following, the one that is not a
. green house gasis.:
@ ; (1)  nitrousoxide
@ feEF @  methane
@ A=A (3) ozone
@ TR SRRES (4  sulphur dioxide
53. O et F g 53. Forthe cell reaction
3 —~ 24
2FeS+ (aq) + 21~ (aq) — 2Fe2* (ag) + Iy(a0) 2Fe’* (aq) + 21~ (aq) — 2Fe™ (ag) +I5(a0)
208 KW, ES = 024V S e sifufsan &1 9 EE& = 0.24V at 298 K. The standard Gibbs
firss =it (A GO ) 2t - energy (AEGE) of the cell reactionis:
T g ‘%—R‘l’% froRi F = 96500 C mol~ 1] [Given that Faraday constant ¥ =96500 C mol ~ 1]
1 - 4% 32kJ mol 1 (i EasoRRlae 1
@ —23.16kJ ol @ 2316k mfllﬁ '
(3)  46.32 kJ mol~1 @  46.32kJ mol
. - : R 54. Enzymes that utilize ATP in phosphate transfer
54, T T~IRH Eﬁ T gl (ATP) EﬁT 35[‘31“‘ * require an alkaline earth metal (M) as the cofactor.
T B R § S WehRE & ¥ H T & Mis:
Q48 @ Me
2 Mg 8 Ca
@ Ca @ St
@ Sr |
v ‘g5 The most suitable reagent for the following
55, o SRR 6 T W) TG S SRR T conversion, is :
H,C CH, H,C CHg
H,C-C=C-CHy —> >:< H,C-C=C-CHz —— >=<
H
RrF-2- =2 cis-2-butene’
() Na/gd @l - - () Na/liquid NHq
@  H,, Pd/C, T @  H,, Pd/C, quinoline
(3) Zn/HC] 3 Zn/HCI
@ Hg2t/H*, H,0 @ Hg?* /HT, Hy0
56. HyE E=0,8, Se, Te 3 Po) & for arita 56. Which is the correct thermal stability order for
FEQAFAE : H,E (E=0, 8, Se, Te and Po) ?
@ H,0 < Hy8 <HySe < HgTe < HyPo @  H,0 < HyS <HySe < HyTe <HpPo
@) H,Po<HyTe <HySe <HyS < Hy0O (8) HyPo<H,Te <HgSe < HyS <Hy0.
4  HySe < HyTe <HpPo <H,0 <H,S @ H,Se <H,Te <HyPo <Hy0 <H,S

collegedunia:s
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57.

58.

59,

61.

16

71 & @ B W e s &2
()  PbF, %yt weeive & |
@) SiCly SRR & SeT- st & |
@  GeX,(X=F, C],Br,I), GeX, &l g1 # SRT
T R |
@  SoF, = Wy smafies B
1 1 il R
@ PRETEST @ we
® ERTEE @) , , TR I
© HER @) STFE.
@ = fai (v wHifemw tese
A1 IRTH TSige
= d @ B w e wldy |
@ ® © @
®» O @ @ @
@ @ (v @O G
@& @ v @ 6
@ ™ @ @ ¢
mﬂwﬁ@ﬁ%m'ﬁﬁﬁﬁmmﬁﬁ
Vs TS o W o £ 2
1) O,
@ N,
® G
@  Be,
fidira sTEdes % al & ford wom sma ottt &y
HE w5 o
() Li<Be<B<(C<N<QO<F<Ne
2 Li<B<Be<C<QO<N<F<Ne
@ Li<B<Be<C<N<QO<F<Ne
4 Li<Be<B<(C<0O<N<F<Ne
ﬁaﬁﬁl&wﬁaw%:
(1) -6, 6
(2) T 2- R e
@ AAEH-6
@ =S

b7.

58.

59,

60.

61.

Hindi+Engfish
Which of the following is incorrect statement ?
(1)  PbF,is covalent in nature
@  SiCl, is easily hydrolysed

@) GeX; (X=F, Cl, Br, D) is more stable than
GeX,

()  SnF,isionicin nature

Match the follm}ring .

(@ Purenitrogen ()  Chlorige

(b) Haberprocess (i)  Sulphuricacid
(©  Contactprocess (i) Ammonia

@  Deacon’sprocess @(v) Sodium azide or
Barium azide

Which of the following is the correct option ?
@ ®) © @

O @O @ G G

@ @ G O G

@ W ™ @ @

@ v @ @ @

Which of the following diatomic molecular species

has only w bonds according to Molecular Orbital
Theory ?

B O
@ N
@ Gy
4  Be

For the second period elements the correct
increasing order of first ionisation enthalpyis:

(1) Li<Be<B<(C<N<O<F<Ne
@ Li<B<Be<C<0O<N<F<Ne
@) Li<B<Be<C<N<O<F<Ne
@ Li<Be<B<C<0O<N<F<Ne

The biodegradable polymeris :
(O  nylon-6,6

(2) nylon 2-nyloné

3 nylon6

4  Buna-S

-

T
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62. Ca(OH), % U g faer F1 pH, 971 Ca(OH),
w1 fardam oRE (K ¥
O 05x10-15
@ 025x10°10
@ 0125x10~15
@ 05x10~10 |
g3 wem T sfufem ¥ fau ofs 30 fremie k& @
arferfiman 3 99% T T HA = Fa STEwIE T9 ()
1) t=0.693/k
@ £=6.909/k
(B t=4.606/k
@ +=2.308/k
64, T ¥ SFEREH THIA AT
@O e
@ A
(3 | TentE
@ e
65. T § Q o afufra s iR R |

TEEA e S, B

+
(1) @—Nﬂm“ {EEE—%-;- @—CH— N,
o (ot (N auma
1 qa

& 101, TV tight, oy cl
ad «a
@) QGH20H+HC1 TRTAR, CH,Cl +Hy0

(1) T4 TgieH 3

@ OEE+ S

@)  THEH -+ SEHTHRS
@ T+ IMEA

17

62,

63.

65.

66.

P1

pH of a saturated solution of Ca(OH), is 9. The
solubility product (Kgp) of Ca(OH)y1s:

() 0.5x10715

@ 0.25x10-10

B 0.125x10"15

(4 0.5x10-10

If the rate constant for a first order reaction isk,
the time (t) required for the completion of 99% of
the reaction is given by :

1) t=0.693/k

(2) t=6.909/k

3 t=4.606/k

(4 t=2.303/k

The non-essential amino acid among the following

is :

(1)  valine

2) leucine

(3) alanine

(4 lysine |

Among the following, the reaction that proceeds |
through an electrophilic substitution, is : '

NaT e sw
o ot Cyanme
Cl . Cl

Cl

NEC].'_ —_—

AIC],

o«

(4) QCHEOH +H01%QCHECI+H20

The mixture that forms maximum boiling
azeotropeis:

(1) Water+ Nitricacid

(@) Ethanol+ Water

(3)  Acetone + Carbon disulphide

(4) Heptane + Octane
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67. ~ TEEE fufimen, 67. Forthe chemical reaction
- Ny(@)+3Hy(®) = 2NH,(g), ¥ g No(g) + 3Hy(g) = 2NH,(g)
L ad Prme the correct option is:
: 1 d[H,] 1 d[NH 1 dHy] 1 diNHg]
P 1 3 “‘at—g = - s T @ 3] 1) 3 dt 2 dt
d[N,] _ . d[NH,] _ diNp} _ , d[NHj]
@ - ——d‘f—*— 2 73—. @ dt ol
_d[Np] 1 d[NHj] diNp] _ 1 d[NHg]
® -~ = @) & 2 at
dH,] d{NH,] d[Hp] _ , d[NHg]
e e

68, '%EF(W ST, SRR ¥ 90 T a N e 68. The _number of moles of hydrogen molecules
s required to produce 20 moles of ammonia through

@@W W@h % Hrel # e B Haber’s process is :
(I 10 (1 10
B db 3 380

@ 40

69. :
=% i frmet Seifa & Yerifere iaw 5% 69, iI‘he compound that is most difficult to protonate
O‘ . 15
®»  H- Ng

| 0
®© "H- O Ngg
@ H,C /O\H .
| @ H.c  NH
O~ 3
@  meo cH, 5
® H.c \CH
@ Ph/"'o\H ’ ’
@ Ph/O\H

70. T e foera F o, vl faeeu 2 .
O Ay S=o0ferRTampwm 70.  For anideal solution, the correct option is :

@ A VAOTERTaNPw M A, S=0atconstant T and P
3 &mi; H=0fer Tam P w 2 Ap;, V=0 at constant T and P

@ A H=0atconstant T and P

49 A, G=0
@ mix R T3 P W 4  Ap;, G=0at constant T and P
. RS f - -
THE H,0 9 HF % foaq w7t &mees ¥ - | 7. Conjugate base for Bronsted acids H,0 and HF
(I) 99 OH~ a1 HF+ ares

(1)  OH- and H,F+, respectively
@  HyO% and F~, respectively
3} OH~™ and F-, respectively
(4 HE: H,OF G HF+

3 2 4 HgO* and H,F+, respectively

-

T

@ R HaO+ QM F-
@) w99: OH- qMF-

collegedunia:s
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19 P1 ‘
mo.  fopg oo & faso | =9 AT BieEe! [AgI~ | 72 Which mixture of the solutions will ledd to the |
" formation of negatively charged colloidal [AgHE~ |
? .
T o femtor g wol. 2 : |
(1) 1M AgNOyFI50 mL+ 1.5 MKIH 50 mL (1) 50 mLof 1 MAgNOy+50 mL of 1.5 M KI |
@ 1 MAgNO, 650 mL + 2 M KI %I 50 mL © 50mLof1MAgNOg+50 mLof 2MKI :
3) 2MAgNO, =150 mL + 1.5 MKI %I 50 mL 3 50mL of 2 M AgNO3+50 mL of 1.5 M KE |
: . . 73. Among the following, the narrow sp'éctrum
73,  Fred, 3 (dah) deea Wi 2
(1 OffERE G (1)  penicillin G.
@ weffate @  ampicillin
@ e (3) amoxycillin
(4 TR (@  chloramphenicol
i A s _ : 74, An alkene “A” on reaction with Oy and Zn— H,0
T4 0TI A7, O T Z,n HE0 Reaan gives propanone and ethanal in equimolar ratio.
H TETEER S A A @ e e Addition of HCl to alkene “A” gives “B” as thie major
T “A”, HCL & R R “B” & IO HETH product. The structure of product“B” is:
T Y TG “B” TG R . |
-
1 -C1-CH,—-CH;- (I3H CH,
- CH;,
{_;,Hzﬂl
CH,Cl @  HgC~CHy-CH-CH,
B
i"llﬂa @ HyC-CH;—C-CH,
—~CH,~C—-CH ' '
@  HC—-CHy L . a1
Cl
s
s o HaC-CH-CH
H.C-CH-CH ; :
“) 0 Cl CHj -
1 CH, |
' 75. What is the correct electronic con.ﬁgu;ratinn of
75, e 9 Tagid & SR WK JFe(CN),] T Fia the central atom in K, [Fe(CN)g] based on crystal
T o T e TSI = B 2 field theory ? o
4.8
Dty e M)ty &
6 0
6 .0 T
@ tog & @ Pag %
@ et ® &t
@ &'t @ et
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Pl 20 HindHEnglish
76. Y Q PCl; | Tfud e FUA B Tt : | 76, Identify the incorrect statement related to PCl,

() T W P - Cl e T QR A 120° W from the following: -

TR ® Tf!:lreeequatorialP—Clbnndsmakeanangle

of 120° with each other

2 g P - o :
@ P— C1 3794 TF TR ¥ 180° HT Y| (20 Twoaxial P— Clbonds make an angle of 180°

T § i

| with each other

(@ A P-Cl ey, 7 P—Cl eee) @) Axial P—Clbondsare longer than equatorial

g A o 2R 8 P~ Clbonds
(49 PCl; 319 stafrania 21 4y  PCl; molecule is non-reactive

77. THud o9y 9w {9 ? 77.  Which will make basic buffer ¢

() 0.1MNaOH %150 mL+0.1 M CH,COOH (1) 50 mL of 0.1 M NaOH +25 mL of 0.1 M

— CH,COOH

2 100 mLof0.1M

2  0.1M CH3COOH %100 mL+ 0.1 M NaOH 0.1 M NaOH CHPOQH £100 mbt

&l 100 ml, (3) 100 mL of 0.1 M HCl+200 mL of
® 0.1 M HCI% 100 mL+0.1 M NH,OH % 0.1 MNH,0H

200 mL 4 100 mL of 0.1 M HCl+ 100 mL of 0.1 M
@ 0.1 M HCl 1 100 mL+0.1 M NaOH Fi NaOH

100 mL {

m 78.  The major product of the following reaction is :
78. A affrmmigea e d .
COOH - -
strong heating
+ NH >
+ NH, Heled . 3
COOH
COOH
COOH COOH
M @) @[
CONH,
O

@ @ NH
|
(J

COOH
. Y
NH,
NH, NH,
4@ | @ @(
NH,
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21 P1
mg.  wRieW - I A few T <A AfER FIFEM-TIH S | 79 Match the Xenon compounds in Column - I with

1 ) e AR i e iR i:zrii;r;ggou;::in Column - IT and assign the
Gl | , Column -1 Column -1II

Ll e - 11 @ XeF, @  pyramidal
@ XeF, @ et b XeFy, () squareplanar ‘
) XeFg ) I FEwl © XeOF, (i) distorted octahedral ‘
© XeOF, (i) Torchd oresharhi @ XeOs () square pyramidal
@) XeOq Gv) o fafaE Code :
CIER @ O @ @

@ (®) © @ @ @ @ G @)
@ & @ @ o @ @ @ & O

@ @ @ @ o
@ @ d @
@ @ G ©® O

g0. T 9 qUHTHE 1 T RM A Wq‘% 80. The manganate and permanganate ions are

® @ @ O
@ @ & O @

tetrahedral, dueto:

L (1)  The - bonding involves overlap of p-orbitals
O -3TeE H IS % 4 6 T MRS of oxygen with d-orbitals of manganese

3 p- e 1 ST 8 2 @  There is no - bonding
@ - T (3)  The w-bonding involves overlap of p-orbitals
Q)  w-SEEH FS ¥ p-Hech Ay SfteisT of oxygen with p-orbitals of manganese

¥ p-FUEH T A T 2| @) ?Thm@?hg?v%?xvirﬁp ofd-{:;l;itals

7 oxygen with d-orbitals of mangan

@) - HTN % 4 o U SiieTsT

wd: El Rl 8L  Which of the following species is not stable ?

gl T Y SR o oieis el 98§72 () [SiFg]*~

O [SiFgl2~ @  [GeClgl2~
@  [GeClgl?~ @  [Sn(OH)12~
@  [Sn(OH)P~ @ [SiClg2~
@  [SiClg)*~

; 1 3 lectron ES, =059V at
g | &, 298 K 82, Foracellinvolvingonee cell +
82. TH ¥ I foredt = - § 298 K, the equilibrium constant for the cell reaction

R ESy; = 0.59 V &1 I aaffenan o forg wn feerish is - ‘
¥ |

2 503 RT [Given that 2903RT _ 4 059 Vat T = 208 K}
[ﬁm TNE T= 298K W, = = 0.059 V]
1) 1.0x102 @y 10X 10: |
@ 10X 105 2 l.i_'h(.].Ci:u:II |
3 10x1010 (3 1.0x10 |
(4 1.0x10%0 @ 1.0x1080

-

—
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83.

&4.

86.

87.

88.

29

1 5 | $ it s geeiees &2
(1)  Sr(OH),

@  Ca(OH),

3  Mg(OH),

4)  Be(OH),

350 K 71 15 9 T Tk 19 %1 HIoR 2119d, 221 vil
# oy T F A ¥ 20 whaww 9 ) i\ e
TE! WU O (Z) F ey § uet faeey €
(M) Z> 17 AR el T §
@  Z> 199 yfwdl 9 wgw §
) Z<1ql MHYF T Y §
@ 7 <17 gl wor ypw ¥

U A 91T C 991 FoiE A © Ffda 1. somm.
VI GEFTAT (hep) STeh o1 ¥ a9 990w
STwTn A Rl & 75% T W €, itk o g
g

(1) CyAg

@  CgAy

@) CiAy

@  CA,

fore feafi 3 e # R T A2
(1)  STET oh1 SIoH Ryl

@ TR R YEr
@ 399 s
4 2H(g) - Hy(g)

BESSH WA & Weed §, fr B 4 <9 O s T
ol g7 & A wedt § 7

O I gl

@ =R g

(3 URE g

@) % Aol

T Y ST T T % fere e el
1O Feq Bfy

@ T fafy

3  oma-fafms fafy
@ Hhiere e fafy

83,

84,

85.

36.

87.

88,

Which of the following is an amphc:-terirj
hydroxide ?

()  Sr(OH),

@  Ca(OH),

(3) MgOH),

4  Be(OH),

A gas at 350 K and 15 bar has molar volume
20 percent smaller than that for an ideal gas under
the same conditions. The correct option about
the gas and its compressibility factor (Z) is :

(D Z>1and attractive forces are dominant
(2)  Z>1landrepulsive forces are dominant
(8) Z<1and attractive forces are dominant

(490  Z<1 and repulsive forces are dominant

. A compound is formed by cation C and anion A.

The anions form hexagonal close packed (hep)
lattice and the cations occupy 75% of octahedral

‘voids. The formula of the compound ig

@1 Cohy
@  Cga,
(8 CuA,
@ CuA,

Inwhich case change in entropy is negative ?

(1) Evaporation of water

(2)  Expansion of a'gas at constant temperature
(8  Sublimation of solid to gas’

4  2H(g) > Hy(g)

Which of the following series of transitions in the
specirum of hydrogen atom falls in visible
region ?

(1) Lyman series

(2) Balmer series

(3)  Paschenserieg .
(4) © Brackétt series -

The method used to remove temporary hardness
of water is :

(1)  Calgon’s method

@  Clark'smethod .

(3)  Ion-exchange method

(4)  Synthetic resins method

-

T

collegedunia:s

India’s largest Student Review Platform



HindrEngiieh

g9, FEHAFTTHAAFEER?
(1) CuFeS,
@ Cu{OH)
@ Feg0,

91.

92.

93.

@  CuCOsCu(OH),

et oo H Aftre Wittt Tl o IR werT
T T FH A

() (CHg) NH > CHgNH, > (CHy)gN

@ (CHggN > CH,;NH, > (CHy),NH

{8) (CHgy)sN >(CHg),NH > CHgNH,

(4) CHZNH,>(CHy),NH > (CHg)3N

T 1992 ¥ ol & SR A wet g g e

Tepan T o ?

1) €O, e 3R AT oo B FAFA &
fem

@  Srafsfavm ¥ weo & fae ol 3wl e &
YR 39Em % fau |

(3)  STERTRER STAgUl ST g T S WES
fEw % gediea & A

@ HEETE (CFCs) % S9N I Tehid T
F ¥ feu St 3T W TN W 8

Ay & S Tl v gR o e e
PreARga Faw™ ¥ wRRa T\E 9 F A we

ST & wiw 3o ol € ¢
(1) W I YR
@  TEHEEY

@ Wy

@) TEIEgEE A

Sreaifirn Y Hre H S Y aiRE S SRS
S ¥ Frefafas § Q@ 79 wad IS TR R

T P

1) T a e

©  TEEH e o e o

@) N yoinesEE H ag Tl @ EEeT
(1) i § eEafad

23

89.

91.

92.

98.

P1
Which one is malachite from the following ?

1)  CuFeS,
@ Cu(OH),

@ CuCO,.Cu©OH),

The correct order of the basic strength of methyl
substituted amines in aqueous solution is :

(1)  (CHg),NH > CHzNH, > (CHg);N
@  (CHy)sN > CH,NH, > (CHg),NH
@ (CHg)gN > (CHpoNH > CHyNH,
@ CHNH,> (CHy),NH > (CHpsN

The Earth Summit held in Rio de Janeiroin 1992
was called :

(1) to reduce CO, emissions and global
warming.

(2) for conservation of biodiversity and
sustainable utilization of its benefits.

(3 to assess threat posed to native species by
invasive weed species.

(4) for immediate steps to discontinue use of
CFCs that were damaging the ozone layer.

Colostrum, the yellowish fluid, secreted by mother
during the initial days of lactation is very essential
to impart immunity to the newborn infants because
it contains :

(1) Natural killer cells
(2) Monocytes

(3) Macrophages

4  Immunoglobulin A

Grass leéaves curl inwards during very dry
weather. Select the most appropriate reason from
the following :

()  Closure of stomata
@  Flaccidity of bulliform cells
(3)  Shrinkage of air spaces nspongy mesophyll

(4) Tylosesin vessels

-
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T ST O F O O e el W e
g

O EE: s-YS W -
@) A p- Y51 T -
(3 AW q- 0 T p-9=T
@ B m~YS( TS n-=0

R % YEIEm Tl o1 97 fhan 7
1 09

@ 07

@  0.07

4 009

=1 & B TR Sioea w9 w0 T SautaE
FREE?

1) IEFEATA
@ wfm
@ BeEwEw
@4 R
e WeEmet = ol ¥ o wm ¥ e e
Hifera : |
@)  ETRFT-WH @ =N
) e S G weoh
© ey Gii) e
@ Rt @v) g
= 4 9 3w faweg =7 994 Elﬁ'[?_ﬂ'q d
@ ®» © @
D G 6 @ G
@ @ v 6 i)
® G W O @
@ @ G 6w
Wl TR G A F IR W AW ¥ R
fretfafen ¥ § w9 o g wewql w2
(1) e gfa g forees
@ TSR
@ i EEa

@  faest sl = sTEw

94,

95.

96.

98,

| Hindi+English|

The shorter and longer arms of a submetacentric
chromosome are referred to as :

() s-arm and l-arm respectively
(2} p-arm and g-arm respectively
(8)  g-arm and p-arm respectively

4  m-arm and n-arm respectively

Respiratory Quotient (RQ) value of tripalmitin is :
a1 09

@ 07
@ 007
@ 0.9

Which of the following is a commercial blood
cholesterol lowering agent ?

(1)  Cyclosporin A

(2) Statin
(3)  Streptokinase
(4) Lipases

Match the following structures with their
respective location in organs :

(@)  CryptsofLieberkithn (i) Pancreas
(hy  Glisson’s Capsule (@} Duodenum
{©0 Islets of Langerhans (i) Small

integtine
(d  Brunner’s Glands Gv) Liver

Select the correct option from the following :

@ Gk ©@ @
@ @ @ @ G
@ @ G O @
@ @ G O @
@ @ @ @ v

Which of the following is the most important cause
for animals and plants being driven to
extinction ?

(1)  Habitat loss and fragmentation
(2)  Drought and floods
(8  Economic exploitation

(4)  Alien species invasion

-
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99, WRSH 1 HIA g1 W awaE e 3 fag saerEt | 99 Which. part of the brain is responsible for
22 thermoregulation. ?
) i (1) Cerebrum
@ TR (2) Hypothalamus
) e TTE irer (3)  Corpus callosum
@ = i (4) Medulla oblongata
100, Tretates fafreasi w fFER S| 100. Consider following features::
@ S e i (&) Organ system level of organisation
®) feqred el (b  Bilateral symmetry
© T TR = TR (¢  Truecoelomates with segmentation of body
& o ot e R R B R | S e
) foreed 0 - (1)  Annelida, Arthropoda and Chordata
W T 5 @ (2)  Annelida, Arthropoda and Mcllusca
% ﬁmﬁ E : Eﬁm (3  Arthropoda, Mollusca and Chordata
EZ ferer ﬂgﬁ:&a (4  Annelida, Mollusca and Chordata
v e e - vt o | 101 Slect the ot sequge o oeon s P
% 1 T B : mouth :
1) T —> TR — T - it — et — (1) Pharynx — Oesophagus — Crop —
FoR — == Gizzard — Ileum — Colon ~> Rectum
@ TE — A - Ygut — IFF — 3 (2) Pharynx — Oesophagus — Gizzard —
— WIEH — &= Crop — Ileum — Colon — Rectum
@ T — afEE - Tl o 3feEm - T 3) Pharynx — Oesophagus — Gizzard =
— B — T Tleum — Crop — Colon — Rectum
@ T - uiEE - 3 o T S i @ Pharynx — OQOesophagus — Illeum —
= e — & Crop — Gizzard — Colon — Rectum
102. frfafae e i eRwya e EyTa & | 102 Which of the following pairs of gases is mainly
for ea ¥ TR 7 responsible for green house effect ?
) i 3R e () Ozone and Ammonia
@) e 3l T-I'I?zﬁﬁl"'f (2) Oxygenand Nitrogen
@) ?E?ﬁﬁ IR T TRSEES (3) Nitrogen and Sulphur dioxide
@ T SRES e st (40  Carbon dioxide and Methane
103. =1 & o7 o1 Usfiy feeR dama &7 103. m:;?tecéf?thg following muscular disorders is
O St
(1) Tetany
Eﬁ; g wﬂ;ﬁg (2) Muscular dystrophy
(8) Mpyasthenia gravis
@ %‘W (4) Botulism

L ]
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104, TEHMER SUHET RITIRG FO S19a) TS F TH

105.

106.

107,

T fom & wenfor +0t % forg wedt St €1 e

H A IR Safeae A ¥
() Fra=ifed o vaafemel §
@ TEmfefsi va svamm wmie &
@ e Telt vE R afedt
@ vEHER wE féaafafbeii
W - I - 11 R frems i
wWY-1 H-II
@ P.am @ e w
ferypaitenor
® QRS®FE @) Fedier
KER-CIEay
© T-Tm (i) PR sy
@ T-TOFHER Gv) Afe
| A ferepefieror
&  afedi =
T el
Shea ooy =1 w97 ST
@ (md ©w
L G @ @ )
@ G @& @ ®
@ @ O < )
@ @ @ ® (v

ﬁmﬁﬁaﬁﬁﬁﬂ%ﬁaﬁﬁw%wﬁm&m
i fafy & &2

Q) Sorse difEh 99
@ TN SR
(B TR R

@ ufgFed

U wivis H Taaa W AR 2 ¥ 5 ke ¥ o9 ¥
39 3.3 kg 3190 99 9 * 97% TEST SHT ®
S 2 ¥ 2.5 kg TR AR S0 4.5 9 5 ke TR 99%
TR W Y| IRl fRa YRR W R S @ &)

Q) e s
@ TEERE I
@ fosRE =W

@ g E

(Hindi+English

104. The ciliated epithelial cells are required to move
particles or mucus in a specific direction. In
humans, these cells are mainly presentin :

105.

106.

107.

(1)  Bile duct and Bronchioles
(2 Fallopian tubes and Pancreatic duct
3)  Eustachian tube and Salivary duct
4) Bronchiolesand Fallopian tubes
Match the Column - I with Colummn -1I :
Column - I Column - I1
@ P-wave @ Depolarisation of
ventricles
®) QRScomplex (i} Repolarisation of
ventricles
{&& T-wave (in) Coronary
ischemia
(d Reductioninthe (@v) Depolarisationof
size of T - wave atria
()  Repolarisation of
atria
Select the correct option.
@ (b)) ©@
®» & @ @
@ v O @
@ @ O @ [
@ @ @ & @

Which one of the following is not a method of
in situ conservation of biodiversity ?

(1)  Biosphere Reserve
@) Wildlife Sanctuary
(3) Botanical Garden
(4) © Sacred Grove

In a species, the weight of newborn ranges from
2 to 5 kg. 97% of the newborn with an average
weight between 3 to 3.3 kg survive whereas 99%
of the infants born with weights from 2 to 2.5 ke
or 4.5 to B kg die. Which type of selection process

is taking place ? ;
(1) . Direetional Selection
(2) Stabilizing Selection
@  Disruptive Selection
4  Cyclical Selection

-
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108. 'qﬁﬁ]m ?(‘WJT qﬁ aqawe,:ﬁ & -gg’f EFFI HETIE? 108. The correct sequence of phases of cell c:s, cleis:
U M- Gy—>CG,—>8 ) M—oG 2GS
@ G —=>G=>5->M @ GG —28—->M
@.. 8526, 2G6>M @ S-2G2>G—M
@, G282 GoM @ G —>8>5G,>M
EANCIRRER! TS gMA 5 YR guiied
109 5 i 109, How does steroid hormone influence the cellular
T ' activities ?
@ i Ii“ RIEAT T2 5 ot i TR FETHT| ! () Changing the permeability of the cell
(2) " DNAS ﬁw'@' [ - g et SR | | membrane. |
@) 7 Fifye faeet § feoa TwiE AMP Wl |ishd 2 Binding to DNA and forming a
B gene-hormone complex.
- ) - Activati ic AMP located on the cell
@ u@mﬁﬁ el F fdia GowE W T ®) i‘;ﬁgﬂicydﬂ ARG PR R
I (4) Using aquaporin channels as second
110. Frefafad § ¥ %7 o FoF T8 T 82 TESSEnEet.
) e gd W S STIHEERiE TSR B | 110, Which of the following statements is not correct ?
gl (I) Lysosomes have numerous hydrolytic
o (zj‘"“""‘amwﬂ F T IHHIT TAEH FARAE pH enzymes.
H W AT (2) The hydrolytic enzymes of lysosomes are
o '@f Aot Eﬁ X3 active under acidic pH.
®) f[ — (8) Lysosomes are membrane bound structures.
Y ?ﬁaﬂ
@ R el qu : (4) Lysosomes are formed by the process of
AT packaging in the endoplasmic reticulum.
1. gt ' ﬁ " % * | 111. Which one of the following statements regarding
frfefiad § @ S 9 HeE o @7 post-fertilization development in flowering plants
. . ik ¢ 7
Q) senm, we § fawle dar is incorrect ?
(@) . s, Yo faste B : ()’ Ovary develops into fruit
3) Wﬂ aﬁﬁﬂw yriry H faenfad g ® @  Zygote develops intoembryo
@  SeIus, - & Prah B ¥ 3) Centralcell df&aﬁ?laps into endosperm
_ (4)  Ovules develop into embryo sac
112, Thi<h (e - A R 87 ;
(1) TEheRE 112. Concanavalin Ais:
5 AR 37 (1) analkaloid
= - (2) anessential oil
'_(3) oo 'i' o =+ (B alectin
(-4-)_- v o7 (4) apigment
118, TSl % 5 T R SR Seure ok e gasial
) ST & fog faefafea d ¥ o ¥ SR # | 118 Which one of the following equipments is
e ERCE T } essentially required for growing microbes on a
sl ’g ﬁ large scale, for industrial production of enzymes ?
@) b (1) BOD incubator
@ . (2)  Sludge digester
@) RUEEL (8) Indugtrial oven
) R (4)  Bioreactor

L ]
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114.

115.

1186.

117.
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=1 et =t e o WEn
(A) TEUSTEA AYST 91f A S USigH WA
T ¥ 9 3 8, Wedfew woE wean §
B) THIRETE g < sl o whna s,
TACSTEH HEATT € |

shaa famea =1 =97 Fifaw)

O W@ EB) T

@ (A) It AfFT (B) oA B
@ < (A) T B) AT

@ (A T8 & AR (B) T B

LT, 3N ARG, BFL H I I S g
GAF,

Q) e iR o
@) uiedT iR Ta s
(3 TEFEE T W
@ AR ok umE

TS A T PRI HIRTEIE o 9EeT & Wa 78 &
Erpica

O g9 - IfYFET - ¥F afesH o
T SHfeeRTd — deqor et — T A
AFHFTAR AAHTY — G907 Fifernd —»
I AfEHe — AT - [F GEE —
TEEHIE A — I3 Wl — e g
Wﬂ%ﬁﬂ—)ﬂﬁiﬁm—}wﬁ@rﬁl
— &I A > A TR

U — ATIFHT — Y T — TH aT_H
—> T Afe — &1 e — T 9t —
YA Hiew

TAWMET * FF TE wfeass um ¥ iy fiem
HITT ;

@)

3

@

@ & et @  900ce
© &9 ey Gi) 1850ce
© garsiey (i) 650-800ce
@ @ dfigg Gv) 1400 cc
fara fawer =1 == FifSwy

@ G © @@
B @ @O v @
@ @ @ @O
@ @@ v @ G
@ Gv @ @ @

114.

115.

116.

117.

I
Coenzyme or metal ion that is tightly bound
to enzyme protein is called prosthetic group.

(B) A complete catalytic active enzyme with its
bound prosthetic group is called apoenzyme.

Consider the following statements :
(A)

Select the correct option.

(1) Both (A) and (B) are true.

2}  (A)is true but (B) is false.

(3)  Both (A) and (B) are false.

4  (A)isfalse but (B) is true.

Purines found both in DNA and RNA are :
(1)  Adenine and thymine

{2) Adenine and guanine

(3  Guanine and cytosine

(49) Cytosine and thymine

:
Select the correct sequence for transport of sperm
cells in male reproductive system.

(1) Testis — Epididymis — Vasa efferentia

— Rete testis—Inguinal canal ~» Urethra

Seminiferous tubules — Rete testis
— Vasa efferentia — Epididymis
— Vas deferens — Ejaculatory duct
- Urethra — Urethral meatus

Seminiferous tubules — Vagsa efferentia
—> Epididymis — Inguinal canal
— Urethra

Testis — Epididymis — Vasa efferentia
— Vas deferens — Ejaculatory duct
—> Inguinal ec¢anal — Urethra
~> Urethral meatus

@

@)

@

Match the hominids with their correct brain
size :

{a) Homo habilis )] 9300 cc
(b Homo neanderthalensis (1) 1350 cc
(¢  Homo erectus (iti) 650-800cc
(d Homo sapiens (iv) 1400cc
Select the correct option.
(@ b @ @@
O @ O G @
@ @@ @ G @
@ @ v @ @
4 v @ @ @
Qcollegeduniaa
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118.

!

119,

120.

121.

122,

1 for gt € oW % wafaa foen foe seafteds

et e 2t €, o S B € 2

6) aﬁf‘ﬁﬁﬁaﬁtw

(2 argfesH iR femfad

@)  Sie AR feurcAs

@) B R feunfe

for forepTTTen] % 7R o Toe o DNA 7= 2 ?
Q) BRI T IR

2 TR Te e

() TFTRE U @

@  H=h S TS GoAeh v

T FTET el TSI U TGl of SAT0T I Tt H
Wifea & =w=ife

) et TET H YT STE ST AT 9 |

@) Y UE YEHTERIS S STRIEE |

@ QIR Haehl il N ¢ it fafae 5t

(@ IR % RIS WhEw % we H

e e Sl =TT BT :

O T raHEE! e e 6 |

@ R fegEi " 50% yEeroEd A fev- 1o T
B

(@ R g A dafs o AT g R geR W
Fsft e & = ot e W

@ e T e AT TR % SR
ogd Bl 2T ¢ |

ST e & uen e H T STen e LT

ST ) AT TR S TR 8§ 2

()  AREWYAE

(2) Tifaa sonte |

@)  FHF aEH R heea |

@)  vifas SR @

29

118.

118,

120.

121.

122,

P1
Variations caused by mutation, as proposed by
Hugo de Vries, are :

(I) random and directional
(2) random and directionless
(3) small and directional

(4)  small and directionless

Which of the following pair of organelles does not
contain DINA ?

@
2)
(3)
(4)

Mitochondria and Lysosomes
Chloroplast and Vacuoles
Lysosomes and Vacuoles

Nuclear envelope and Mitochondria

Due to increasing air-borne allergens and
pollutants, many people in urban areas are
suffering from respiratory disorder causing
wheezing due to

(1}  benign growth on mucous lining of nasal
cavity.

(2) inflammation of bronchi and bronchioles.

(3)  proliferation of fibrous tissues and damage
of the alveolar walls.

(@  reduction in the secretion of surfactants by

pneumocytes.

Select the incorrect statement.

(1)  Male fruit fly is heterogametic.

(2) Inmale graschoppers, 50% of sperms have
no gex-chromosome.

(8) In domesticated fowls, sex of progeny
depends on the type of sperm rather than
egg.

(40 Human males have one of their

sex-chromosome much sharter than the
other.

DNA precipitation out of a mixture of biomolecules
can he achieved by treatment with :

(1)  Isopropanocl

(2)  Challed ethanol

(8) Methanol at room temperature
(4)  Chilled chloroform

-
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I FEor wRe! & HE faeed s 9T 0|

O efier garTEE, A5 A TR, Tne
@ IS, AR, S At
@ IR, wEta, ZEweHt

@ Tl CaemEion, JfaasiuadgaeRE

T FHYT H TG HA ¢

(1) ST TG A g FE S

@ TR el SR ¥ Y s ¥ faefia
M & forg st ¥

@) AT SRR STAHET S| o1 T4 B
TS S T ISRl R e T

@  SaTS O SE % HE v s SiEl
& SR H WG H B |

fre Al W S g S T A gifm
FHfa

(a) oiFEaed o TR
® () <&
Goifaat
© TvEhfergfir @) fafes o=
@ vHHERRTRE v IS
vy Udifew emad
et faemey &1 w2 Fifsmy
a) (b)) © @
M @ ) & G
@ @ v G o
@ @ aw @
@ @ @ @ O
i w3 R 9 R @ AR 7
() =R
@) e
(3) AL
(9 fg-feemm

FB T | Al I for fri=m & oo A fEkia
BRI} T T R N FHE T ?

(n =g

2 AAFTSHRE
® g GEI
(@ SR

Hindi+English

123. Select the correct group of biccontrol agents.-

124,

125.

126.

127,

(1)  Bacillus thuringiensis, Tobacco mosaic
virus, Aphida

2  Trichoderma, Baculouvirus,
Bacillus thuringiensis

@  Oscillatoria, Rhizobium, Trichoderma

(4d)  Nostoc, Azospirillium,
Nucleopolyhedrovirus

Select the incorrect statement.

(1) Inbreeding increases homozygosity.

(2) Inbreeding is essential to evolve purelines
in any animal,

(3)  Inbreeding selects harmful recessive genes
that reduce fertility and productivity.

(4)  Inbreeding helpsin accumulation of superior
genes and elimination of undesirable genes.

Match the following organisms with the products
they produce :

(@  Lactebacillus @) Cheese
(b) Saccf;qmmyces (@) Curd
cerevisige
(¢  Aspergillus niger (i) CitricAcid
(d) Acetobacter aceti (iv) Bread
)  Acetic Acid
Select the correct option.
@ M ©© @@
n @ ) © G@
@ @ @ @) @)
@ @ v & @
@ @ @O @

What is the direction of movement of sugars in
phloem ?

(1) Non-multidirectional
2 Upward

@  Downward

(4)  Bi-directional

In some plants, the female gamete developa into
embryo without fertilization. -‘This phenomenon
igs known as :

(1)  Autogamy

(2) Parthenocarpy
@  Syngamy

4)  Parthenogenesis

-
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P1

128. - =9 # srafine SSTUesRT & S FE A ? | 128, Persistent nucellus in the seed is known as :
@ Fem (1) Chalaza
@ iy (2 Perisperm
@ s (3 Hilum
@ " S, we (40 Tegmen
129, STIATH WHIEH i & fog #F w7t 129. What map unit (Centimorgan) is adopted in the
T (SAERTT) STorEr T ? construction of genetic maps ?
1) 10% 9 3TeR & (e w3 T, o i (1) A unit of distance between two expressed
@) %
: genes, representing 10% cross over.
ST % e Gl i T TR |
@  100% HiE 3R i Frefa w ge, ) afrerma 2 A unit of distance between two expressed
. : genes, represen CroSs OVer.
i ¥ Ter g O TR tng 2i0%
Yo o | Fraft ¥ 3 A unit of distance between genes on
. @ g’ﬁﬁzﬁ iier @a:ﬁ w gL, " chromosomes, representing 1% cross over.
_ TF TFT |
(9 A unit of distance between genes on
@  50% G S H i = gy TR W chromosomes, representing 50% cross over.
ST % wE 6 g B OF G |
. . 130. What would be the heart rate of a person if the
130. % UF =l o T P 5 L, STt o sfa | cardincoutputia 5 L blood valume in the ventrides
THeri # BfER sT=e9 100 mL wF et W% ad at the end of diastole is 100 mL and at the end of
: ventricular systole is 50 mL ?
T 50 mL & 79 SUH! 559 & 0 it 2 ular systol
@. 50T o e (1) 50 beats per minute
(2 75 '.Fq'a:[ gfg faee (2) 75 beats per minute
@ 100 e i fire (3) 100 beats per minute
@ 125w wfa fie (4 125 beats per minute
131,  FrEidfaeTs, ?ﬂwﬁfmﬂﬂv‘ﬂ%’% W FrafaRad ® | 181, Thiobacillus is a group of bacteria helpful in
Y HF O HE FE W ST W 2 carrying out :
1)  TESSE R () Nitrogen fixation
@ T i fedfia (&  Chemoautotrophic fixation
@ RIS (8 Nitrification
@ Tomdesm (4  Denitrification
182. wik@T ¥ fomior 3 g Fer o 9 T ek SR 132, Which of the following factors is responsible for
#9 the formation of concentrated urine ?
Q m T () Low levels of antidiuretic hormone.
" e Ak weis) s (2) Maintaining hyperosmolarity towards inner
(@) o & B W medullary interstitium in the kidneys.
MEARTE 1 T& |
. (8) Secretion of erythropoietin by
@) RIS wivRtad §RT IRt F Juxtaglomerular complex.
: 4y Hydrostatic pressure during glomerular
@ T e % o geefas 9 filtration.
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138, 7 % epforent | deaifta P w1 FYA sfa £ 2

185.

() = el FeleEge & Thosw, awesl
WA % T T #)

@ TaRE e § oEn g faedt A
&?T:Nﬁﬁ@?f%l

@ e forceh sfataal ¥ Wiy wafaa St 81

@ IR ATYET H T g4id DNA 319 U
TEerEm ga €

184. iIEem™ fornT IR0 T § 2

Q)  FaE T

@ e v o) wis el %

@) Fad 5, Wit Tl 3R F9 6y e
7|

@ I, G e, F S TRgeH T e
C2i

Gﬂ'ﬂﬁ@ﬂﬁ?ﬁlﬁmﬁ:

(1) I 56 ¥ TR et W §

@ IR =% | & i

Q) FRE O 3 i wSH §

@ IR = T T wR T

136. gl & aiftiss gore & 991 & foqug § frafafea § @

B W FE TR T L ?

O SFRTTHIETEITCINTEIRS
T B I U FARH T

@ T (i) F Sialy wieaa % SR Sae
% e 1 3R TR 1 F el - wum: SR
AR TTERTE ST

@)  Ffeas = wfwm, soong | fafiem w= sl
Bt B

@ eidren S &6 5 g8 ° afts aea

187.

Y= R Bl B |

frafafes ¥ 9 9159 o witfefeet [ amm;

3T TR B 7

O s F e i

@ < s

(3) WP o H SguR = fitfae

@) S 9 ¥ SR = fidfre

Hindi+Engliah|

133. Which of the following statements reg'ardiﬁg

134,

135.

136.

137.

mitochondria is incorrect 7

()  Outer membrane is permeable to monomers
of carbohydrates, fats and proteins.

(&  Enzymesofelectron transport are embedded
in outer membrane.

(3) Inner membrane is convoluted with
infoldings.

(49 Mitochondrial matrix contains single
circular DNA molecule and ribosomes.

Xylem translocates :
()  Wateronly
(2) Water and mineral salts only

{3) Water, mineral salts and some organic

nitrogen only _
i
(4 Water, mineral salts, some organic nitrogen
and hormones
Cells in Gy phase :

(1)  exitthe cell cycle

2) enterthecell cycle

(3) suspend the cell cycle
(4  terminate the cell cycle

Which of the statements given below is not true
about formation of Annual Rings in trees ?

(1) Annual ringis a combination of spring wood
and autumn wood produced in a year.

(2) Differential activity of cambium causes light
and dark bands of tissue - early and late
wood respectively.

(B)  Activity of cambium depends upon variation
in climate.

4  Annual rings are not prominent in trees of
temperate region.

Which of the following ecological pyramids is
generally inverted ?

(1)  Pyramid of numbers in grassland
(2) Pyramid of energy
(3 Pyramid of biomass in a forest

(4) Pyramid of biomassin a sea

-
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138.

139.

140,

141.

142,

TG SISO h A e S ¢ Rt sfiwie siem
b sftedt il o aftedta o faenfaa 99 €2

Q FEd
@) Wy
@ TPE
@ R

o ST W fora Siye argved H S

o IS H HI HEAT o7 ?

(1) Higae Yk
(2 TR YEe
() g A
@ TR

o o fopm medferyerss went o wrtA it S1aT e
§7?

() YA FEE, i, ardentei TR
@ Ay fafl, woaE sAdE, T

3)  CuT, Mfear, s s

@ e, emaEes e, Qg fafmt

Weh ST % S ST Ue TH:vae] e stEad
HHI: 500 mL T 1000 mL, 8| gfg 2raf¥re s
1200 ;L ), 99 S9& [ 93999 & e 31 Bl ?

1) 1500 mL
@ 1700 mL
@  2200mL
@ 2700 mL

e IR H w@ferd gu R o &1 9Rom &
BT e? -
1) U HE, U8 F 9y Gnfer 2 ¥ ok 9w

(TH) wer ifrerl H gfed 8 S 279 €1
@  udl ove T iy gfed B €

@ UF T F Y Glerd B ¥ 2R TH (TW)
e PV Fger & Gy guferd 2ian 8/2R
gl

@) TF AUS F A wofera T ¥ R TR S
YT F Heeeh! © WTERd B |
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138,

139.

140.

141.

142,

P1

Placentation, in which ovules develop on the inner
wall of the ovary or in peripheral part, is;

(1) Basal
& Axile
(3) Paretal

4y  Free central

Which of the following protocols did aim for
reducing emission of chlorofluorocarbons into the
atmosphere ?

(1) Montreal Protocol

(2) EKyoto Protocol

B3)  Gothenburg Protocol
(4  Geneva Protocol

Which of the following contraceptive methods do
involve a role of hormone ?

() Lactational amenorrhea, Pills, Emergency
contraceptives

(2) Barrier method, Lactational amenorrhea,
Pills
(3) CuT, Pills, Emergency contraceptives .

(4) Pills, Emergency contraceptives, Barrier
methods

Tidal Volume and Expiratory Reserve Volume of
an athlete is 500 mL and 1000 mL respectively.
What will be his Expiratory Capacity if the
Residual Volume is 1200 m1. ?

() 1500 mL
2 1700 mL
G)  2200mL
4) 2700 mL

What 1s the fate of the male gametes discharged
in the synergid ?

(1)  One fuseswith the egg, other(s) degenerate(s)
in the synergid.

(2)  All fuse with the egg.

(3)  Onefuses with the egg, other(s) fuse(s) with
synergid nucleus.

(4)  One fuses with the egg and other fuses with
central cell nuclei.

T
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P1 34
143. e & o= = U A % o sevas v e | 143, What is the site of perception of photoperiod
F Y FE TR FA W E? necessary for induction of flowering in plants ?
R s ' () Lateralbuds
() Pulvinus
@ a9 (TeEE)
(3) Shootapex
©) mzﬁﬁ 4  Leaves
4)
144. Select the correctly written scientific name of
144, :?; T HUe™ T gRI Tege = foear T Mango which was first described by
fafiga S =9 =1 999 ST ; Carolus Linnaeus
() Mangiferaindica Car, Linn. (1) Mangiferaindica Car, Linn.
@  Moangiferaindica Linn. @  Mangiferaindice Linn.
B Maongiferaindica 3 Mangi indi
@  MongiferaIndica E 4; [ m‘g ’ z g ndj:;
145. Trafefen s wfaesm el domH % e
145. Following statements describe the characteristics
1 90 R B | I He T g 7 ;
) of the enzyme Restriction Endonuclease. Identify
() FEUTEA Y, RETH A RELET, the incorrect statement.
37T W HEM T (1) Theenzyme cuts DNA molecule atidentified
@ 9% Ueigd ST & fadiy vl R Sea & position within the DNA. ,
(2  Theenzyme binds DNA at specific sites and
3 3 # | e U A€ T FRA
. N ; . cuts only one of the two strands.
(3) 9% USEH Ta® wel R faviy el W
o 3 (3) The enzyme cuts the sugar-phosphate
¥Teh E.l_ RIEHE T ol Il & | backbone at specific sites on each strand.
@) ¥ UNEH ST W fafre St () The enzyme recognizes a specific
qﬁa?ﬂasg STThH <l Y59 idl 4 palindromic nucleotide sequence in the DNA.
146. ORGSR %2 Y e SIIV]-3G1Hg H Gl TTHHGHS, | 146. From evolutionary po:.int of vlew‘, retention of the
* Y FenreEiE auu o = FB T ¥ T gro fema}ie gametophyte mllzh de}relopmg young emljixga
the parent sporophyte for some time, is first
& el S feped S T ? 5 .
observed in
1 KEICH (1) Liverworts
@ |9 (2> Mosses
@ fEHREE 3  Pteridophytes
(@) RSt (4) Gymnosperms
147. TERETH (F9eH) ¥ T AW G HI YS90 [N % | 147, In Antirrhinum (Snapdragon), a red flower was
1 9579 TR @9 B p= W I U gE| cr:'zu;:s;d withawhitebf;lojﬁexc'l m&in F, fgﬁ&ﬁ'&ﬂﬂﬂ,
TSt T AR . pi owers were obtained. enp owers
Haﬁ wl TRy H "Qﬁ'ﬂ, Silk were selfed, the F, generation showed white, red
R Tl T 9T gW Frafafen 9 @ e e and pink flowers. Choose the incorrect statement
I 99 B from the following :
Q  "E wEr gafaw & g o e = (D) Ti%sexpeﬂment does not follow the Principle
of Dominance.
ohidl |
: ; (2} Pink colour in F; is due to incomplete
@  F, ¥ Tersit 0, g gefert & ot SR | S
1 2 1
ST — i W il 1 2 1
©)  EE 4('6"@)'4( )4(-%&?[) (3 RatioofF,is Z(Red)z(Pmk)z(W}ute)
L e
; 4) Law of Segregation does not apply in this
@ =% A ggasm i e ang = B ——
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148. TShIS! 1 T[his-6—~HIEhe § qied, i vefgeifarad
$I TEeh SR eifufrar €, fFas g saifm

149,

150.

151.

152.

e g ?

O R

@ TR

© FR

@  EERHIRIHETS

‘B T T A YR a w e R 7

(1) Hife & gt Q

©@ Wit % wHeEedE

@) Ik o TGRSR |

(4) it & TR

T Hiwes sia: it giRm =T 31
(1) oeE LNG-20

) HAETIS 376, MSIRRL

@) WeEmWE, LNG-20

@ TooE o, TS 375

TF T A W R STl A, 2 §1 AR Wt
el A T SHERAT 0.4 ¥ 79 gufe d augmst
T, faemgrst T s st sl a3

HESRT 1 B ?

()  0.36(AA); 0.48 (Aa); 0.16 (aa)

(2)  0.16 (AA); 0.24 (Aa); 0.36 (aa)

(3)  0.16 (AA); 0.48 (Ag); 0.36 (aa)

{4 - 0.16 (AA); 0.36 (Aa); 0.48 (aa)

Mes 994 & faua # frafafag § 9 1 9 59

WEE?

(1) 9% Ywifed % o O, feefim-u ggia 31

@ 9% I¥io gRGTRm & SiF am, diss
wfeiedt 1

(3) THHEIREE G 1 IUAN 1 e iba T
T ¥ R I YRl Heeid 7

@ aEeH -a e § i e % wr

THF T Ui B

P1

148. Conversion of glucose to glucose-8-phosphate, the
first irreversible reaction of glycolysis, is catalyzed

149,

150.

151,

152.

by :

(1) Aldolase

(2) Hexokinase

{3) Enolase

(4}  Phosphofructokinase

Drug called ‘Heroin’ is synthesized by :

(1) methylation of morphine

{2) acetylation of morphine

38) glycosylation of morphine

(4  nitration of morphine

Select the hormone-releasing Intra-Uterine
Devices.

(1) Vaults, LNG-20

(2)  Multiload 375, Progestasert.

3) Progestasert, LNG-20

@  Lippes Loop, Multiload 375

A gene locus has two alleles A, a. If the frequency

of dominant allele A is 0.4, then what will be the
frequency of homozygous dominant, heterozygous
and homozygous recessive individuals in the
population ?

@)
2)
3
@

0.36 (AA); 0.48 (Aa); 0.16 (aa)-
0.16 (AA): 0.24 (Aa); 0.36 (a2)
0.16 (AA); 0.48 (Aa); 0.36 (aa)
0.16 (AA); 0.36 (Aa); 0.48 (aa)

Which of the following is triie for Golden rice ?

D

@)

@

@

It 1s Vitamin A enriched, with a gene from
daffodil.

It is pest resistant, with a gene from
Bacillus thuringiensis.

It is drought tolerant, developed using
Agrobacterium vector.

It has yellow grains, because of a gene
introduced from a primitive variety of rice.

T
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158. UEFE & W9 HOw & A ¥ fan ofgfa ok

154,

155.

156.

157.

Nt < 2 U | e fre SR BT v 7
(1)  TEEH YO ST o ¥

@ T FOE (AREREST) F W e
=
T SISEr 9gq HOR el 7 |

9 F Ty Sufeaa 9 ¥ S sigw  Twd
Tl

A o e wge 1 P W Ay siEn) Sl
Yo DNA 91 % §RI AFE SO Scael e
JR?

(3)
4)

(1)  oTIEfEE YEe ereiaTy S ¥

@)  STIARE T = g §

@)  STE Ype Tt weifh e g

(@) STare e fafre S

e & = 9 dafta I qoi; aeE TS R 2

1 g

@ i T

@ SHs i

@ safafea

el d AT MR e 82

O fHge o 9 S1eR & SvE B B

@ T sifer w9 § wweht 2k €1

@  TommoRd ¥ geme drEE T ST e |

@ e st g g B 9§

ot el 1 St faftreared & e fam =30

(2) WA @ s HRE

© () end afgennd

© <R (i) e

@ Zfer Gv) Herdid Aferrd

freTifera foereal o O W& ST & 999 S
@ (b @@ @

H @ @ @ 9@

@ @ Gvw W @

@ G v G@) @

@ w @ @ O
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154.

155.

156,

157.

Hindk+English

153. Pinus seed cannot germinate and establish

without fungal agsociation. This is because :

D
2
3)
G

its embryo is immature.
it has obligate association with mycorrhizae.
it has very hard seed coat.

its seeds contain inhibitors that prevent
germination.,

Which of the following features of genetic code does
allow bacteria to produce human insulin by
recombinant DNA technology ?

1)
)
6
@

Genetic code is not ambiguous
Genetie code is redundant
Genetic code is nearly universal

Genetic code is specific

Which of the following sexually transmitted
diseases is not completely curable ?

(1) Gonorrhoea

(2 Genital warts

(3)  Genital herpes

(4) Chlamydiasis

Which of the following statements is incorrect 7

(1) Viroids lack a protein coat.

(2) Viruses are obligate parasites.

8) Infective constituent m virusesis the protein
coat.

(40  Prions consist of abnormally folded proteins.

Match the following organisms with their

respective characteristics :

(@) Pia () Flamecells

by Bombyx ) Combplates

©  Pleurobrachia (i) Radula

d) Taenia (iv) Malpighian

tubules

Select the correct option from the following :
@ () € @

O G @ O )

@ @ @ W @

@ @ v @) @

@ @ @ O
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L 158, aa STIFH g1 (3UH.E.) T Fm awd §7 168, Expressed Sequence Tags (ESTs) refersto:
Y0 emuT ¥ e d e s ()  Genesexpressed as RNA
@ ifmrere At @  Polypeptide expression
@ ST g ® DNApolymorphism |

4) Novel DNA '
@ Wﬁ.‘ﬂﬂ% HHH @) ove sequences

169. Which of the following statements is incorrect ?
(I) Morels and truffles are edible delicaciea.
(2) Claviceps is a source of many alkaloids and

1539, e A AT T TR a2 ?
(1) HRE 3R 7w @M A A

@ Ffw T wheke ok e W LSD. |
sl (@  Conidia are produced exogenously and ,
@) S T s 3 § SR iwpEiemy : ascogpores endogenously. =
Saeag T e H AT T 49 Yeasts ﬁave filamentous bodies with long
@ R T R i - - thread-like hyphae.
aidt 21 160. Match Column ~I with Column - II.
160, ‘ieT™ - I F &iem - 11 3 ghfva #ifeT Column -1 Column -1
~ i - (@) Saprophyte () = Symbiotic association of
i - 1 % .ﬁ"“ - - fungi with plant roots
(@ A @) TR F WY FAR I () Parasite i) Decomposition of dead
eSS Y organic materials
®) gt ) =S vl & e (© Lichens () Living :Ills living plants
v 3 Or anim
© TR (i) ﬁﬁ% R ST et B Mokl G Symbiotcassietion st
R e | algae and fungi
@ AP Gv) el R Fah! H Choose the correct answer from the options given
(FTERIIET) HESier W below :
frreifens faenedl & & wft s g : @ () © @
@ M © @ O & @ @ G
O ®. @ @ @ @ @ @ @ @)
@ @ @& O ® @ O @
g ‘;g 21) g:; g;’) @ @ @ @ O
. 181.. Which of the following glucose transporters is
161, P # o wr g uftemes dgfem-fef g2 squlledspanient
o g l
@ GLUTII @ GLUTI
@ GLUTIV 8 GLUTIII
@ GLUTIV
162. Tt & o it it srfsman g9 Frlg 3 TR oM
T S &7 162. Which of the following immune responses is

‘responsible for rejection of kidney graft ?

) =-wfRen e 0 Antod
: nto-immune regponse
@ R oA ST @  Humoral immune response
(@ TR WioRE SR @  Inflammatory immune response
@ i Aftad gfere swEfm (49  Cell-mediated immune response

L ]
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168.

164.

165.

166.

38

Arireafaiae (wa i) FERA FhH T F

94 & TfRomm ey

(@ TS eTafire SRR ¥ 5hg ol 9 ¥

b e aRfEm el = Fremree wE B e

(©) SIST-STAH 9Y | hicuayd A1 & STanor |
oy ot ]

@ RBCSorE # ot amme £

frefafeg § @ S9-91 fasey waifus a2

1 @UuEp

@ OWEFE

® (@UuE@fmE

@ (uE@)IfaE

i T FE A §?

Q) w7 W US S, TRes a@
T SR E

@ i ¥ genfed S 99 SEel Saed o &
S 37T FOHT T A

Q) A Sod YRGH Yd & St Ttk Hogfa
B B

@) I H RIS o HEE ST e € SR TE
Yo o1 et dagmieE S 1

S % St g0 & W % $9 9 TF 8 TR TS
TR & S YA i g i oare forees g
TR o ?

@ A= HEA
® TR T
@ ISR
@ e el

W AT % foret S o 39 sael & Wiy e
Edimid

@ isH @ pioEREEES
© zeH @ TS
© asiA (i) SHTRR
@ ySiH (v) ZiOCHReReS
aq fareg =1 S =
@ M © @
O O G 6@ G
@ Gi) @ G G
@ G @ G G

@ @ G O @

163.

164,

165.

166.

!
Use of an artificial kidney during hemodialysis?
may result in :
(8 Nitrogenous waste build-up in the body
(b) Non-elimination of excess potassium ions

©  Reduced absorption of calcium ions from
gastro-intestinal tract

{d Reduced RBC production

Which of the following options is the most
appropriate ?

()  (a)and (b) are correct
(20 (b)and (c)are correct
@ (¢ and(d) are correct
(4) (a)and (d) are correct

Which of the following statements is correct ?

(1) Cornea is an external, transparent and
protective proteinacious covering of the
eye-ball.

(2 Cornea consists of dense connective tigsue
of elastin and can repair itself.

(3) Cornea is convex, transparent layer which
is highly vascularised.

(4  Cornea consists of dense matrix of collagen
and is the most sensitive portion of the eye.

The frequency of recombination between gene pairs
ont the same chromosome as a measure of the
distance between genes was explained by :

(1) T.H.Morgan
(2) Gregord.Mendel
(3) Alfred Sturtevant
(4)  Sutton Boveri

Match the following genes of the Lac operon with

their respective products :
(a) igene ()  PB-galactosidase
(h) zgene (i) Permease
(© agene (i) Repressor
d ygene (iv) Transacetylase
Select the correct option.
@ ® © «@
o o @ @
@ @ & @
@ @ @ @
@ a ) @O

L ]
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167.

168.

169.

170.

171.

172,

ST 3 G Y O e O e e R R |
I o IR Bl g H o, 398 98 w1
® A ¢ I F0 % fag B g s
afgg?

Q) Maﬁw&lﬁﬁ

@ e R ardere

@ Fere ot st st

@ EREERAM IR TR s

BT ) Tgfie foes e wet-21id 1Y % 3R
1 7 TR F G A TR E E

) FEAFEY

@ e PR

@) Iliaates wifed

@ TR Y

frefafaa i 4 f50 39 FREo F @ eRE F e
g9 T IYER o e S9arT e sn e 2 7

W) gEweE

@ TN

®  wET

@ dRNdEET
SIS 3 i o fraew e A e ?

O SR SRR i T i o

@) %ﬁﬁaﬁqﬁwﬁm

@ et Gea BRIl 5

@ awrh Afes SR gt ifirmei 9 =
i e 4 iy gdla fre e S FEe €7

(1)  YEEY H YAY ¥ =8 AR i ¥ "

@ %R

@ Y ST H o

@  vom fRer & Y-

fre sterean A fou a1 mRNA % 9ot & THR §

IE e T g 2

5 AACAGCGGUGCUAUU &

1) sHEifaiReFFEIFA

@ sdfefTweF A

® 44 wE 5 feafa W wawm A W@ G F Faw
J

@ 7 8w o off i W oQU F i
q

39

167.

168.

169.

170.

171.

172,

P1.

It takes very long time for pineapple plants to
produce flowers. Which combination of hormones
can be applied to artificially induce flowering in
pineapple plants throughout the year to increase
yield ?

(1)  Auxinand Ethylene |
@  Gibberellin and Cytokinin
(3  Gibberellin and Abscisic acid
@  Cytokinin and Abscisicacid,

Identify the cells whose secretion protects the lining
of gastro-intestinal tract from various enzymes,

(1)  ChiefCells

(2 Goblet Cells

(3  Oxyntic Cells
@  Duodenal Cells

Which of the following can be used as a biocontrol
agent in the treatment of plant disease ?

()  Trichoderma

(@  Chiorella

(3) Anabdena

@  Lactobacillus

Phloem in gymnospérms lacks :

(1) Albuminous cells and sieve cells

(2} - Sieve tubes only

® Companioncellsonly ) _
@  Both sieve tubes and companion cells

Extrusion of second polar body from egg nucleus
oCeurs :

() after entry of sperm but before fertilization
(@  afterfertilization
3 before entry of sperm into ovum:

@  simultaneously with first cleavage

Under which of the following conditions will there
be no change in the reading frame of following
mRNA? '

5" AACAGCGGUGCUAUU 8

() Insertion of G at 5th pogition

(20 Deletion of G from 5t position:

() Insertionof Aand G at 4th and 5t positions
respectively

(4 Deletion of GGU from 7th, 8th gng 9th
positions

-

T

collegedunia:s

India’s largest Student Review Platform



P1 40 Hindi+English
173. v faureq & el o ‘oifery Goger-g Gogar | 173, The concept of “Omnis cellula-e cellula”regarding
F FouT GEYE PR g = o ? cell division was first proposed by :
@) REER @1 (2) Theodore Schwann
@ e 3) Schleiden
@ TERA ()  Aristotle
174. T Y@ f56fH 7 afirer g (e % Bt e 174. What triggers activation of protoxin to active Bt
o) O 5 % fou wkeds = afega e afa | toxin of Bacillus thuringiensis in boll worm ?
Bt B?
(1) Bodytemperature
M e {2) Moist surface of midgut
9) eI W TH ATl
@ = @)  Alkaline pH of gut
(3) o7a = endd pH
4  Acidic pH of stomach
(4) SN Wi a7t pH
Ereifefiae 9 +f < TR 175. Identify the correct pair representing the
175. ﬂ@'ﬁ"ﬂ'ﬂﬁ?ﬂﬂﬁ o T causative agent of typhoid fever and the
& FRE 3R TFFEE 5 giél Reor =t el s confirmatory test for typhoid,
7
i ) (1)  Plasmodium vivax/ UTI test
(1) TEHETT FEde | Y2081, T
(&)  Streptococcus preumoniae [ Widal test
@ EEEg gEE faEd uhe
: (8) Salmonella typht !/ Anthrone test
(8)  GroHeT SIEE WA T
4 Salmonella typhi  Widal test
@) G 2Eet/ fasa uiem @ “ 2B
176. % GNTH (TR T &, ﬁm'ff % S H g | 176, What is the genetic disorder in which an individual
Frrg — < has an overall masculine development,
e BT, W B & IR ey B &7 gynaecomastia, and is sterile ?
@ R ; (I) Turner'ssyndrome
@ RS : (2  Klinefelter’s syndrome
3 : s
" _ 3) Edwardsyndrome
4 EART | iiq:-géiq
2 (49  Down’s syndrome
177. IER=IS, TIEEFET A ©ikes 1 HEH T8l
3 o frefafian o @ e fon e gara ol &% | 177, Polyblend, a fine powder of recycled modified
w9 T gftesa @ 7 plastic, has proved fo be a good material for :
1) e w el e | (I)  making plastic sacks
2 SHHFEIH (2) useasafertilizer
3 UISH & Tr|ior | (3) construction of roads
4) Ffe ofv uEe s (490  making tubes and pipes
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179,

180.

fore wed sifrn Sugam &2
() srafyre i sfafier d g 3
2) ST 9 Serhfew ¥ fm s § e
<
@ SR # TR TR % Y 9gE 4 Sm
o
@ i FI g Hae & A= RS 9gE §
GolT ST
Tt s =51 39 W1 & iy e &1 ;
(@) ggfem @  uews im
b) HEREEA @) eEfaew
gfafusg
©  wifimigs (i) EITTEr
@ SfeTmEE Gv) TS
(v) SHfeES Aeed
Sfem famen =1 597 wifsm)
(@ by (@ (@
1L & @O G
@ @ v @) o
@ & v @ G
@ @@ v @O G
st faeed =1 =99 51
@ 8 9 10 o THferEl w1 v 3Ufey &
Y Jeasd TR S 2
@  11% T 12 5 el o g s e
! werEd 9 Rfey & Wy g 8 )
(8) U YHE! U Ul =9dr 2R § ue gl
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178. Which of these following methods is the most
suitable for disposal of nuclear waste ?

179.

180.

(1)
2)
3)

4)

Shoot the waste into space
Bury the waste under Antarctic ice-cover

Dump the waste within rocks under deep
ocean

Bury the waste within rocks deep below the
Earth’s surface

Match the following hormones with the respective

@

disease :

(@ Insulin (1)  Addison’s disease

(b) Thyroxin @)  Diabetesinsipidus

(¢  Corticoids Gii) Acromegaly

(@) Growth Hormone (v} Goitre

)  Diabetes mellitus

Select the correct option.

@ (b)) © @

o O O @ @

@ @ @) @ O

@ w o O

@ @ @ O

Belect the correct option.

(1)  8th, 9th and 10th pairs of ribs articulate
directly with the sternum.

@  11thand 12th pairs of ribs are connected to
the sternum with the help of hyaline
cartilage.

(3) Each rib is a flat thin bone and all the ribs

are connected dorsally to the thoracic
vertebrae and ventrally to the sternum.

There are seven pairs of vertebrosternal,
three pairs of vertebrochondral and two pairs
of vertebral ribs.
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1.

Each candidate must show on demand his/
her Admit Card to the Invigilator.

No candidate, without special permission
of the Superintendent or Invigilator, would
leave his/her seat.

The candidates should not leave the
Examination Hall without handing over
their Answer Sheet to the Invigilator on
duty and sign the Attendance Sheet twice,
Cases where a candidate has not signed
the Attendance Sheet second time will
be deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

Use of Electronic/Manual Calculator is
prohibited.

The candidates are governed by all Rules
and Regulations of the examination with
regard to their conduct in the Examination
Hall. All cases of unfair means will be dealt
with as per Rules and Regulations of this
examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test
Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.
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